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MATHEMATICS 10"
It is challenge that you can get 78/75 marks in Annual 2025
D C B A iy -
ax’ +bx+c= Ofufy_,uud/m.ﬂ
b=#0c#0 | a#0v c=0 b0 ax? +bx+c =0 will be quadratlcequatlon 1
if:
ax’ +bx+c = O/J)’ubl/gfuuudlp.ﬂ
b=0,c#0 a=0 c=0 b=0 v ax® +bx+c = OW|II be. pure quadratlc 2
equation:
J7 7 +7 +7 v .A;L/ 4X =7 nir f¥
2 2 4 2 The solutlon set of. 4><2 =7 will be: 3
o2 1 (x +2 Dixao Dixao 4 X2 —x—2ud et zind
(x=D(x=2) )():/_ ) | OFDx+2) | (x=D(x+2) Two factors of x* —x—2are: 4
(V3] | 123} | (124B) | (Bl vl e X4 2x-2=00 e S|
The solutlon set of x*+2x—2=0is:
_ =hole ax? +bx +C = 0 reblr Gt
a=0 v a=0 b=0 c=0 Sy | 6
A B v ax? +bx+c =0 become a linear equation if:
. . 2 j
0, 0,30 0.6y v | {0,-6 e hils5x° =30x LJFL/UL 7
0.5 10,30} 0.6} { } Roots of the equation 5x* = 30x is:
o i S BXe 125 =0t cr FE
10 W T Isls 5X° =125 =0 s 3
&) 40} { 5} -3} The solution set of 5x* —125=0 is:
D ¥ —b++b? = _
AV bt ;)a B8C fer ufsiGons
a=0 a=0 v b=0 c=0 hdn? 9
S b+ Sa 4ac is called quadratic formula
\ where if:
N , 4 hy3 2 _ .
G Skl Re(‘:{ }i)cal i 4 a3x t;x o bxfa_o‘af’}b.wg 10
Quadratic Linear ‘p/ Radical ax” —bx’ +cx® —bx+a =0 is a equation:
dv’:,} azx +b,a* +c=0 é'_(}M;;DL/JJﬁ
Exponenti | ity # sl Gk sl S Equation in the form
al Reciprocal Radical Quadratic | of a® +b,a*+¢c=0 is called: 11
equation equation equation equation
v
{2} {iZ} v {4} {i4} e e SEAX* -16 =0 =il 12
The solution set of equation 4x* 16 =0 is:
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dues . ‘ )
oy s‘.‘r’!L"u’ s‘.‘r’}b‘-d/"? u’?}&/ :‘L(JJBX +327X + 6 — 0 colals 3
i Reciprocal Radical None of these | An equation of the type3* +3** +6=01is a/an: 8
Exponentia | | £qyation Equation g yp N '
Equation ¢/
d/wnéi Lzs 2 e sl L
SRy BEAN S B ATy 8] e W el
Square Exponential | Radical sign None of | An equation involving impression of the | 14
sign sign v these variable under is called radical
equatoin:
ax’+bx+c=0,a=0
v B bx+c=0,b=0 A :%_‘_j{"._qf/tkf}»d/;rlﬁl/&uu 15
ax?=0,a%0 D ax? —bx.a %0 Standard form of quad_rgtlc qu_atlgn IS:
i U”L)’LL}J’}’L«UL‘AJ”»
4 3v 2 1 The number of methods t0_solve a quadratic | 17
equatlon is: A
(X+7)& (X_7)& (X+7)& (X_7)& _ _ -w//-éJuJ;;Lx —15x +56 18
(x+8) (x-8) v (x-8) (x+8) Two linear factors of x* ~15x +56 are:
. 7 P - S - U".( (Y / J) — NG X h—d| L“"
A% i abt/u’:a‘ cnfied 4T L(ﬁ ” J/Vc.a & J U/ DAV
None of Radical Reciprocal | Exponential | ,An equation, WhICh remams unchanged when | 19
o8 wl_/u’ﬁ” iy "'“!’_l/‘dl’:‘_‘;:” ' _+ﬁJ 3 +37*4+6=0 bl
None of Reciprocal Radical ggliExpopential An equation of the type 3* +3°* +6=0is a/an: 20
these Equation Equation‘. | Equation v/ g yp B '
2 | v | e [ eer JENC0=0 gy
S P The solution set of equation 4x°-16=0is:
Y| enefued : 4 .L:.JU'L/;JJ@ =l —e QU 2x* 3% +7x? ~3x +2=0 = hols
None of | Exponential -|-. Radical Reciprocal | An equation of the form | 22
these Equation ¢/ | * Equation Equation 2x* —3x% +7x* =3x +2=0is called a/an:
4 300 2w 1 Ul A P
oty There are complex roots of unity:
a __b v ~a c :LL‘;'}’?J}“{{JJMLOUP&/MJ 24
a a b a Sum of roots of a quadratic equation is:
4 3 -3 3 v e s 670 AX° —3x+6=0 25
3 —4 4 4 Sum of roots of 4x* —3x+6=0
W2 _T7x+12 =0 :LLQIJV&/:::“&L@;BUJU
v x> +12x—-12=0 X*+7x+12=0 | x*+x+12=0 Quadratic equation for the | 26
roots 3 and 4 is:
-2 -5 v 3 5 /u/oc+Byuquu£3x +5Xx-2=0 sl Bt o 27
3 3 5 3 B
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If o, pare the roots of 3x*+5x—-2=0, then
a+pis:
4 7 4 1 «La/,1/,OLB;unuju£7X2—X+4=0cJ}L»B:OL/ﬁ
Ea 2 2 v - If o, pare the roots of 7x>—x+4=0, then op | 28
IS:
S Fe &f?_/{ Fe s «Uw’bu& 4%x* —5X+2=0 =lsls
None of . Imaginary ) ) , 29
these Rational v Irrational | Roots of the equation 4x* —5x +2=0are:
1 - —? o s
1 -o,—o -1, -, o -1, 0,—o° OO -_-?p{fu:dﬂb,«?d: 1 30
v Cube roots of '—1'are: .U
3 1 1 0v \ _-9_;4? b in £ 61 31
Sum of the cube roots of unity is:
3 -1 1 v 0 eSS KA L3 | 5,y
Product of cube:roots of unity is:
©,0° L-o Lo 1,-1 v L 9O AR 06| g5
Two square roots of unity are:
Jbt/:’i' 3’?/ dff}r/,l/,t d:a?‘/"/' v . _ujujué 4% —AX+1=0 = b~
. : Real, Real, | .. . , _ 34
Irrational Imaginary Unequal Equal |. Roots of the equation 4x” —4x+1=0are:
S 1 2 0.
—b? —4ac —b? + 4ac b? + 4ac b? — 4ac’ v/ o a el + bx-+ €=0hi 35
. .. | The discriminant of ax®+bx +c=0is:
: : : 600m:1km="?
5:3 6:1 3 5v _._:_.60_0__.1._. 600m - 1km = ? 36
uﬁ‘r:b“/l/(f':r: » ” I%yw’;&kgd/‘»m&i/b@’ugﬁ
s U i PGPS | I one quantity decreases and other decreases, 37
Direct ¥ | Inverse | Either direct | No relation | the variation is:
.or inverse
30 132 | 423 | 30 eIl L2045 | g
- For 20, 45 mean proportional is:
3 2 +23 4 v e AR 39
o B 3 Third proportional of 4,12 is:
L et Fabibiceaati FLL
a b Cv N4 For arelation a:b::b:c, the third proportional 40
None of | :
these
. o d E T e
s i ey i 7 _ Fab zc:d, d b L
1st ond 3rd 4th For arelation a:b::c:d, d is called a1
. . . proportion
proportion | proportion | proportion v
e B y=kE gk e By
z y X Variable 7Y z 42
v
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In joint variation, y =k X ,k is called constant of
z
o & kX
AIFy=—r8dL
k=1 k=0 k1 k<0 v z 43
. L kx
For joint variation, y =— where:
z
ujld/ s o/ u:b’; :ug!_Mdmauﬁa:b::c:d —t
None of Fourth Extremes _ T . a4
. Means | In a proportion a:b::c:d, aand d are called:
these Proportional 4 o
v =g S o ol carb tatbacid
None of Fourth Extremes | Means ¢ | Inaproportion a:b::c:d, b and.c are called: 45
these Proportional prop S L '
b s £ sia fac=b’aib=bic ot 5
o b ¥z | _ .::_.':::.....:':"-‘LL"U-{(?/U*‘g -
”Oh”e of | Means v fourth third In continued proportion a:b=b:c, ac=b*, biis
these saidtobe .-~ "-proportional between a and
. L“M./L«“C b sa ui‘a:b:b:c_/tid"v
U oS . ; 2 o A *
g 24 Iz . . = | a7
none of fourth hird _ s
these means ourt third” | 1n continued proportion a:b=b:c, ¢ is said to
V & be proportional to a and b.
Loy 3 4 E - . | LR XU AIX 5115 48
4 3 4 Find x in proportion4:x::5:15.
.5 2 7
uv? =1 uv? =k u=kv’ ¢ u=V? Fua vt 49
. A If ucv?,then:
o O Syt L]
2 3 2 2 o L 2_k x°
W 4 X If y?oc—, then:
X
_ A\ e 54V
u=vk Cu=wiko u = vk? _‘/ u v v.ow 51
: : If —=—=k, then:
vV W
2 4 2 . l{:’ :g 2 'XZ
- Yy Xy’ v _ | LA |
X X X The third proportional of x“and y“is:
: CE XY IVIW
X XYV vy xy | iEw B LU y 53
vy X v The fourth proportional w of X:y:V:iwis:
a-b_x-y a+b_x+y izi EZE v Zﬂacﬁrjdl,«:l;ﬁalb:XZy/ﬁ 54
X Y b y by Xy If a:b=x:y, then alternando property is:
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E:XV a+b_x+y _ x a_b :Lg.uﬁ’ug?na:b:x:yﬁ 55
a X by a-b x-y Xy If a:b=x:y, then invertendo property is:
a—b _c-d ﬂ __¢ a+b c+d b d 56
b d be a—-b c—-d v a c .
If Pt then componendo property is:
2
. X“+3
. - Uy D EETE— L
S S AZB ez
Proper Improper | Compound | o & "\ 2 3 57
fraction fraction fraction B _ X HS s fraction
(x+1)(x+2) s
sl St iV e 2(x+1) =2x+2-& Al cg
Equation Unequality | Identity v/ Fraction 2(x+1)=2x+2isalan __ - .’
L Sl P S | X2 +1 X2+ x2+1 : St G S o L
x+)(x=3) | —54—— | == | —5— Which one of them is not.an improper 59
v X% +2 X“(x-1) x*-1 | fraction? . -
X+1 XZ—X-}—l -u,?d/gi/’.'lééf_x +1
(=00 x| e -x-3) | T x| mutiplcation factors |60
for x* +1 are:
L x* +1
L;/’V..C’ ‘.’2"/:‘: 2 74 2 X 61
Linear Improper Propér v/ Compound X +1is a/an
fraction.
. 4 Jx‘(5x+4)2 =25x* +40x +16 =L
u:f“i&ff( uFE s wd eengl | g
none o . O
these all values v | two.values | onevalue | The jdentity (5x+4)° =25x*+40x +16is
true for of x.
/ , % ool o0 Z0F on Kurf/k’u:u)/
o R e Tl P
de/cufu! S 3 Anj/ /_Q).I: -LLdU'Z'(
N&Z‘Z;f An Equation | Improper 'IA:\rZ(r:?i%?]r A fraction in which the degree of the 63
> N Fraction v numerator is greater or equal to the degree
. of denominator is called:
g ' 2x+1
v 3 18 -
= A -y A = *(x+1)(x-1)
None of A Proper _ n - 64
these Fraction v An Equation Impro_per X is:
Fraction | (x+1)(x-1)
uf‘:\tlj/f—uicﬂ L s :XLI:_&JMQ < £ (x+3)" =x* +6x+9 -
one 0 : . inear 2 2 .
these An Identity ¢/ | An Equation Equation (x+3)" =x*+6x+9is:
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. - X—2
_utdnd o
A B (J ( )(X+2)
A+B C | A Bx+C | Ax B x1"x+2 <2 66
S Xohoxe2 v Partial fractions of ————— are of the
(x=1)(x+2)
form:
:;vﬂu(ugjvéq/,gé
8 4 0 16 v {1' 23, 4} 67
The number of elements in
the power setof{1,2,3,4}
LIS Zer L {a,b)
0 4 v 2 1 The number. of elements in | 68
the power set of {a,b}
(AnB)u(ANC) : .. Am(BUC):?
(AnB)~(ANC) (AuB)u(AuC) (AnB)A(ANC) |-, 69
v . |"An(BUC) =
ety v
= . o2 Lt‘M,&)fgl/'gb
4 <x ol %Uf B
: | Alcollection of well-defined objects is | 70
None of Set v/ Power Set Subset . called:
these Q@ N _
E a
P . \ :LVML{Q:{—M,bEZ/\biO}
}UG.HJLL )l,wlu“bt/:; ;I,wld/ﬁ . Y . L}; 3 b
Rational . e v 71
Numbers Irrational Natural e Numbers —18abezabz0li
" NUMbers Numbers . | WHOlE Aset Q= B' beZAb=0¢is called
9 a set of:
N e Qo SURSE LD TS er
4 3v L2 1 The different number of ways to | 72
£ : describe a set are:
e el Em":dl’set 4 e bW e | 4g
Super Set | Singleton Set p‘/y Subset A set with no element is called:
Fiﬁ'i{tg‘;t i erd By e (X [xeWax <108 24
y Empty Set Subset Infinite Set | The set {X|xeW Ax <101} is:
e el Ll Lt e et b f‘dmﬁfd("’g“;f i 75
Subset | Singleton Set v | Power Set Empty Set cal?ej'et aving only one element IS
{0} v {o{a}} {a) ; s hrerafesdt | g6
Power set of an empty set is:
9 8V 6 4 _Laému,u?u(u{/ié.:{ﬂgé {1, 2,3} 77
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The number of elements in power set
{1,2,3} is:

R={(13).(2.2),(31).(4.4)}is:

et
4 b B v A :‘LL“n/,i/,A-UB;’nAg B/ 78
None of If Ac B, then AUBIs equal to:
these
ety
o b B A v :%bn4i4AdB!nAg B 79
None Of If A [ B y then AﬂBJSeqU{ﬂ tO:
these & O o
B_A ) v B A :cb_t'_;.f./,!/,.}l\;-j--B}"}’EA B/ 80
If Ac Bthen. A-Bisequal to:
© etz (AUB)UC
An(BNC) AU(BUC) v (AuB)NC An(BUC) R B ‘ 81
(AuB)uCisequal to:
(AUB)~(ALC) | e tr,AU(BNC)
AU(BUC) | (ANB)U(ANC) | An(BNC) . O ‘ 82
v | Ay(BNC)is equal to:
-:- . :}‘at’n/,l/,AUB?u;f&rJ)‘/&'} B A
BUA v ¢ B A If A and B are disjoint sets, then AUB | 83
is equal to:
Jrd A B e i3 Sk A e S
- S :LL&mMJuKAu: AxB
! 2v 4 3 If number of elements in set Ais3and | 34
in set B is 4, then number of elements
in AxBis:
AxB w2 4B a3 Skt A ex
) . > \ :‘L&nﬂ/jd/@w(jl’fé
2 4 2 v 2 If number of elements is set A is 3and | &>
in set B is 2, then number of binary
relations in AxBis:
ixR={(0,2),(2,3),(33).(3,4)} i
(2,3,4} 0,2,4} (0,23} v (0,3,4) i¢-0#DomR | gg
The domain of
R={(0,2),(2.3),(3.3),(3.4)} is:
IxR={(13).(2.2),(31),(4.4)} Ji
134} | 1234 v | {324 1,2,4} ie-dsRangeR | g7
The range of
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19[7}4@5&/(_1,4)55
v Il v I 88
Point (—1,4)lies in the quadrant:
5 7 V 4 2 :J)’de/9‘11‘4‘5‘6‘8 sy 89
Range of the data 9,11,4,5,6,8 will be:
n ﬁ Z(X—)?) ZX v - _ X =? {J—Z:}'}"Z/%J 90
> X n n N For a given data, X =?
7 5 3 1 -‘LD}LFJ:I‘3‘5‘3‘7‘9 )y 91
The mode in the data 1,3,5,3,7,9 is:
. ‘ o 1 aj . wse .
e g ld s bW 2P
Histogram Ungrouped Grouped A data in the form of frequency distribution-is called: %2
g Data Data v/ quency s O\ V '
. et o Kt A bl o L6 X Ftd
e L1 oy A —
Sum of the deviations of the varlable X from its mean is 93
Same One Zero vV
always: : .
Losl (5 4 il . at'Uv(uu//,wu«" n K.,/J‘wivu Xy Xgr Xgyerrerereeny X,
Geometric l\/ieén MD; de The n' posmve root of the product of the| 94
Mean v/ Xy, Xy Xgyerneeneness X, observatlons is called:
Lol BT A » b (548 b QS L X, X X X,
Harmonic M{ d" Geometric | The value obtained by reciprocating the mean of the | 95
Mean v/ edian Mean reciprocal of,x Xy Xgpererarenns x,, observations is called:
Jz/;lbfzfﬂ » ol -_ ) . :L&MAJULT.’;/D}EJ‘L?/J:}U"U/(
polr-231 . L . T s
_ - W : o i is | 96
Harmonic Median Mode .« The: most frequent occurring observation in a data set is
Mean -7 | called:
i T st
Meén Mode “Median o The measure which determines the middlemost | 97
LY e observation in a data set is called:
R o N AL S s”
Quartilés Range ¥ |~ Average The extent of variation between two extreme | 98
g 0 g observations of a data set is measured by:
I\ St do Lo LS fle bt Jo £ 2iu X (1=1,2,....,0)
a : ;.wf_ld&v =3 g
R Standard Vari v 99
ange Deviation ariance The mean of the squared deviations of X;(i=12,....,n)
observations from their arithmetic mean is called:
Lo Lty Lo A e bde Zena X (1=12,....,0)
Ry M bl BT A -4 S
Standard Range Harmonic | The positive square root of mean of the squared | 100
Deviation ¢/ Mean | geviations of X;(i=12,....,n)observations from their
arithmetic mean is called:
BA Iy S5 S e bl i S LK PO | 101
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collinear non- parallel unparallel | The union of two rays with some common
collinear v/ end point is called angle.
a0z | P 2536 45°26'21" | 45°36" _ AR 4536° "D'MS | 40,
45.36°in D°M 'S "is equal to:
o . 180° V2 I ¢=¢/ 4
360 180 7 4 180° r Lrrad =2 103
2—”?=‘ijﬁ/
90° 120° v/ 360° 180° |, 3 104
—rad =7
3 ,
lﬂé’ 1r2<9 v 1 0? 1(7,9)2 ,:1?4./1;0&; 105
2 2 2 2 Area of a sector = ?
K/,«;l/uvjjﬁurfd/d/‘/iu'
90° v 120° 360° 180° The angle between hands of a watch at 3 o' 106
clock will be: : :
: L. 1¥  =cosec’d
sin® @ cot’6 vV tan® @ sec’ @ o ) = 107
1+__ =cosec’d:-
_ o '_ » sec’x—1=
sin® @ cot’ @ tan’0 v/ sec’ @ - 108
sec X— l— o d
i » 9 2 Ceatll A KRS e
. An Angle | The union of two non-collinear rays, which have | 109
A Radian | A Minute A Degree
v - | common end point is called:
30° 60° v/ 45° “e0° | O=_ Jrano-V3J | 4,
_ - If tano=+/3then 6=
, , 1+tan’0: - N . 2
1-tan“0 1+cos” 0 v -1-.1-sin“ 0 sec’0 = 111
) > S 1 1
cos6 sec’ 0 Zcos 9 2sec’0 v = 112
1+sin® 1-sin®
3 T 1 v 1 1 .
N Y —= =cosec45’ = 113
2 V2 2 2
sind IS L sind seccotd = 114
cos0 _:_s_lne A 9 cos0
tan6 N 0.'.:. 1v -1 cosec’0—cot? 0 = 115
Gasle ' ééuﬁ'ﬁ'ﬂ«-Jﬁréz«}; Eéb<;5
o2l e L. 7 1 . . .
Acute-angled | . =" 22 et et 116
v nght-angIEd Obtuse angIEd None of these HS=H.S postu|ate is used for
triangles.
Ll & ui$i15 e . __ujz__mj e s A
: Parallelogram . Opposite sides are congruent in 117
Triangle v Rhombus Trapezium a
vl o 1 180° L“n,ﬂMb&di’ﬁL%’/{&t./’uﬂ 118
Acute v/ Obtuse Right -«
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Angle formed in the segment less
than semi circle is:

Jl}/c':;/’l}'l"/;£;//bul d ':‘q}wuyué

d=2r v d= 5 d=rzr d= p Relation between radius 'r' of a circle and 119
diameter 'd’ of a circle is:
K@f!;:ﬁwlnl/f(c;gf}’wéufmaWdf};):Lé.f!)
/z); 52 73 Ve . . "LL“M/— 120
Sector v/ ArcC Chord Diameter | A of a circle is the plane bounded by
two radii and the are intercepted between
them.
” e B Pcuzlt:ujlju;» . ; <§I,U:/ﬂ/vuﬁ.5//;ldﬁ:r~]_bwbrf LA 1
: : arallelogra ne and only one can.pass throug
Circle v/ | Rectangle Line m three non-colinear points. .-, -
"Ldfbré*:&gﬂu(}u&/}}ég/l:tfr
4 3 2v 1 The length of the diameter of a circle is how 122
many times the radrus of c1rc|e
.. etbw Bl e Sl
s vV B o
4 Tangent o -~ The greatest chord of the circle is its 123
Centre v Secant Chords
f? J} z }3 v L _-Lt'U/ /}UUL//:—//LG/I) 124
Sector Arc Chord Diameter ./ A chord passrng through the centre of circle is:
A 4 VLl,ﬁ//o/udrz_u‘w»f/i
4 3V 2 1 Through how many non-collinear points a 125
. | circle can pass?
i e p Qg o e e B SR K i g
: N - _Parallelogra | Locus of a point in the plane equidistant from a | 126
Circle v | Rectangle Line e me fixed point is called:
360° v/ 270° 180° | 00° S SN .
o | O Complete circle is divided into:
L - /'j T :LVM;JUULJ}(L}(/LL//U
L L3 2b? S - Js ] ‘ ) .
= .| Diameter : A chord passing through the centre of a circle is | 128
Circumference Secant . N Radius
\ v called:
Y /r/ _ e s, . . = uja_/}’/,é:ﬂ_.&ﬂtd»j‘é/;égm 126
Diameter Centre v" Circumference Radius Right bisector of the chord of a circle always
----- passes through the:
sy 2k /3'{{2.//!; #?KL//D }:“i{;//') ::ﬁ;L"MMUﬂ/}?—J}ﬁE’LJ/;!uﬂuu}?,}/o}{(./’b
Segment of | Diameter | Sector ofa | cirumference | The circular region bounded by two radii and the | 130
a circle of acircle | circle vy | ofacircle | corresponding arc is called:
o okl - e The dist f’%VM{”:{;iﬁ/L_JI‘{tE %t(zct/b 131
AN Arc AcChord | Diameter | Radius v | 1€ 9IS enceo any point of the circle to its centre
is called:
m y: > _‘LL"va’/ UDLJ}}(}K/;,BJLf/éc//U
B : i joini i i 132
Perimeter Ul Diameter | Gircumference Line segment joining any point of the circle to the

centre is called:
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Radial
Segment
v
y: 513 i et Ungdbie B rer ki LS5
. A
Diameter Cimu::“fereme Circle v Radius | Locus of a point in a plane equidistant from a 133
fixed point is called:
B L6ss o I et/ W E il s
On . " T Tangent line intersects the circle at: 134
point v/ Two points Three points No point
ufi»f \oF » JLI/;/)JV(!JiuzﬁlJVg;//b
g Not Perpendicular U oS The tangent and radius. of a Clrcle at the 135
Parallel | perpendicula v None point of contactare - -
r
nly - ow many _ngen can e drawn at a
two Only one v Unlimited Three point on the circumference of a circle?
PIR g Sy oy Lf: p éu’:_'gloggfv&':/é./bc_ﬂd}/ufr
Only onlv on Unlimited Th; How many tangents can be drawn on a 137
two v yone Imite ee circle from a point outside it?
Jv abe 5 - _ahib(bU!;éJ)ﬂJ/uﬁu/dVé;/i;
B e 2
Tangent Secant Chords Diagonal - A line which has only one point in 138
v ecan gonal. i.common with the circle is called:
S, v s g b LI 267 L
’ % ' 139
Ce‘ntre Tangent Secant - Chords.- A circle has only one
—p s g P ;J | e bl Y PTQ S sis b
,:}S ¢ Jt A Tangent A/(}Zh" d s : :A“’ " In the adjacent figure of the circle, 140
ecan hord .- An'Arc -
v the line PTQ is named as:
Kl 7 . . .
S;;rit TK"/D : p ggﬂ; Sines« 1 :wji‘unuf;}‘w»ivégjuégﬁbb{l
Secant of a Tagggr?{]of: ._Cogig%f Sineofa | A line which has two points in common with a | 141
circle o a circle -l circle circle is called:
v K '/; . / . . .
b il e {“_j" Sines 1, oS B LS, AL KL
Secant Tangent Cosine . . -~ o .
Secantofa | Tangent of | Cosine of Sine of a | A line which has only one point in common with | 142
circle acircle o A circle circle acircle is called:
;L‘Q&éydvzg/»ck’ﬁ&)ﬁL;//bug
u_@: s 44 s x| 143
triple double Equal v/ half Two tangents drawn to a circle from a point
outside it are of in length.
}(/ e 73 (‘f’l?;i b Sy Py 144
Centre v/ Diameter Chord Secant A circle has only one:
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WS I L] ] 154 "
uw‘f{/’_‘wuj S S 4o e ¥ S UL
No point at Single Two Three A tangent line interseéts the circle at: 145
all Point v/ Points Points g '
P I S 4 o il uﬁﬁv’uué;&f@uyéﬁi;}u
perpe’n gicular | collinear non- Parallel v Tangents drawn at the ends of diameter of a circle | 146
parallel are to each other.
B s L}n‘ u:‘fdu&b«&ug;uu’/ J&L?" ’:uuﬁé.//!)..{.‘/f
J L f 4L J L(A/:‘ g /
Congruent - £ Incongruen - | 147
Equal Unequal t v The arcs opposite to incongruent central
angles of a circle are always: .-~ .
-l ,AUd//KMJE’ L s
360° 270° 180° v/ 90° The semi-circumference. of a CITC|e subtenda | 148
central angle. _
J~L2"‘ Jl?‘;f Lln JJuo;w¢¢u;/;;;J¢;f/d//J (VoY)
VA YA
Congruent Equal Uneaual Incongruen | A pair of chords of a circle:which make 149
v g g t congruent central angles'is:
Ai/d/'//Uiﬁéﬁ.a,/u’ur/i/ul/UJu'bu;!/}u*;/bwa
80° 60° v 30° 20° £ s
The Iength of a chord and the radial segment
{-of a circle are congruent, then central angle
-made bythe chord is:
,.«;U/r‘; :}Ud}f/ E LA .'-TLJ,,?:':L(/%}!JLD&uy‘uéuﬂuu/“}'//ég//bu/(
- - o * .
Incribed Central Quadrant Ri h; angle The angle subtended at the centre of a circle 151
angle angle v/ angle ghtangle ‘between two radii of circle is called .
/ﬁ U7 ) /5 _‘ablk(_.ﬂ’é/{bfﬁg/’l)gf(
- & RS Any part of a circumference of a circle is 152
Sector Arc v Chord ™. | Diameter KNOWN a5
A K :dlidﬂ//gfjéu’iba 60° 5;')(57//&}}.@
80° 60° ¢ | 40° 20° If an arc of a circle subtends a central angle of | 153
2l Y 4 60°, then the corresponding chord of the arc
will make the central angle of:
<l ,:;ljd}’//ﬁfﬂéz./’u
360° L2 | 180" v 90° The semi circumference and the diameter of a | 154
QWA circle both subtend a central angle of:
é}(&u:u’ ~/. | z , - P>
] Dm)zf’)/f E/.’Lfaléti';;\e L{LJh’U -d/y: dl/d/}'}ié_l’a 180° :/;ljdﬂ//}}l{:./li)/'/l
o hou e_ol a dial ess t Ian The chord length of a circle subtending a central | 155
Noneof | the radia radia radia angle of 180° is always:
these segment | segment ¢/ | Segment '
A uf;dij &V&ug;i}d}(/gf‘u“/fuuﬁgﬂ)ug
- Ji g - - \
. Incongruent ) _ y
Perpendicular | Parallel v Congruent | The arcs opposite to incongruent central angles
of a circle arc always:
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7 v T T T _ _ <§TL“M,:U/,~_4;_J34._/’!;JJ 157
2 4 6 An angle inscribed in a semicircle is:
& By 25 & The word v dﬁ £k wé—f okl I
Amrican Greek English Latin ¢ W?Lttgresome fy IS derived from
. o <¢t'n~5|JUl;&Uﬁ,xb§Z_)€f/[c_4.//l;ﬂ
v 2 8 180° Angle formed in the segment less than 159
Acute v Obtuse Right semi circle is-
wils st _ o//i)o/L_f u//bg.}flg U:"/(j[ -LL“ o/’bVL“/ﬂ/c_J"quL;.ﬁ'*
incircle circum circle | escribe None The circle passing through the vertices of | 160
v circle a triangle is known as ,
360° 90° 180° 120° v/ oLt g
Each angle of regular hexagon'is
l?’U"( G/(J///}bdﬁlﬂj}(u}’uéwb‘ib/’)u
7//0/’1{ . }(//!‘; ..
: T pdost v, -
Circumferenc h In-centre id - 162
e Ortho centre v Centrol The circle WhICh touches the three sides
of a trrangle lnternally is called:
Vs S /3 2) -Lt‘ﬂ"@f(@/’) 163
Boundary v/ Radius Chords Diagonal -The c:rcumference of a circle is called:
% BEE 5 5 g e bW S S 164
Tangent Secant v/ Chords Diagonal .A I|ne intersecting a circle is called:
. o L e $ < -u;fcfu’l//"u;/éj}&é.//b
A IE-4 Sl Yl e
: U _ Tangents drawn at the end points of the 165
collinear non-collinear | parallel u_npat_ra}lllell diameter of a circle are-
CE W S E L Ui S
4 3v 24 1 common tangents can be drawn | 166
5 for two touching circles.
?wéty;iﬂ/v_f“/“‘{éu,;uém/»
4v 3 o2 1 How many common tangents can be 167
45 \ drawn for two disjoint circles?
- 3F ) ¥ " e 2 Sl w g/})uﬁlﬂjb//ﬂg}l/{:_//l;
Ve Nyl 15 - - -
Cor‘]jruent Perpendlcu]a | zf(allel ur:j/arzﬁel The tangent and radius of circle at the 168
g 4 P P point of contact are.
ju h 7'2_-:- . _‘a@n/l&t{%;udﬁpégwﬁ”@
3 v o 3 T The measure of external angle of a 169
regular hexagon is: .
- - - e drte b el g B
3 2 v 5 T The measure of external angle of a 170
regular octagon is:
Calea ik, 157 ot L gstidan Lt
Loy S pos? Sy v, _ . R 171
Clrcurr;ferenc Ortho centre In-c‘e/ntre Centroid | The internal bisectors of the angles of a

triangle meet at a point called the ...... of
the triangle:
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JmlujLnJﬁiﬂ b$ssf Lol Us quf
_ Lo S oot S o v, . <w§f <<<<<<<< s L3 172
Circumferenc | 1o centre | In-centre Centroid The point of concurrency of the three
ev perpendicular bisectors of the sides of a
triangle is called the ....... of a triangle:
L}bﬁf"/zp J,}P,Ea'ir’f . ng:/ «««««« /uryu"/fc;ﬁdu{wk?ﬂup;u:guf
Non- Concurrent el - _ | 173
concurrent ooints o | 1angle | Rectangle | Three or more than three lines passing
points through a point is known as .....:
il S » 7 Angle bléﬁ;g of thbej:ffzr:e: ?:;I};sf)?f s 174
Concurrent ¢/ Radius Chords Diagonal triangle are:
Lﬁbﬁ("/zp b}bﬁﬂ afs JJJ;"‘ «U’YLVMKCWAU}’L
Non- : - All three altitudes. of -are 175
Concurrent | Triangle 37
concurrent int v Rectangle concurrent:
points ponts

(SUBJECTIVE PART-I)
Q.NO.2 (SHORT QUESTIONS)

1. erte the quadratic equatlon in the standard form and

(x +'§Lﬁ1&5&>uu&ﬂwgméuﬁ (/Gd/.lfv/:,i:l/

Nx—-3)=-7

2. Write the quadratic equation in the standard form and X b GBS e toln Gosnr syl 2 S S S S sl
X+ x+1 i At A B

point out pure quadratic equatlon —4 + 7 = 6 x+1 6

X

3. Solve by factorization: 3y? = 'y(y'—j-S)_ 3y2 = y(y — 5)-u /S S5 2k

4. Solve the equation using quadratic formula:2 —x* = 7x 2 42 — B e S L B G sl

. ) = 7x

5. Define second degree equation and give an example. _J;J&/,lu/JfJal:u&/;5;

6. Write standard form of quadratic equation and formula. -U:JUWGKJ./J’LJU;!c«u‘d/bfrfcab(/&/w

7. Define Recrpiroc'al'eduatlon NSy NN

8. Define exponential equation. 'J/de/g,,péu_ﬁj

9. Define radical equation. _J/J/?Jc,,,r/dh;,

10. Write names of methods for solving a quadratic equation. _ui”‘j(téuﬁ’/é'c/ff:«lﬁl/&/w

11. Solve: x> 4+2x—2=0

x2+2x—2=0-0 /S

12. Solve with Factorize : 5x

2 = 15x

5x2 = 15x-g/F$75 2k

13. Write in the standard form of the equation ﬁ +—— =3

x—4

L L o3 e dent

14. Solve : (Zx — %)2 ==

9
4

(@)=t
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15. Solve:v3x + 18 = x

V3x +18 = x-S

16. Find the discriminant of the following given quadratic
equations; 6x2 —8x +3 =0

6x% — 8x + 3 = 0 -5 s e bolr Bsns

17. Find the nature of the roots of the following given
quadratic equations and verify the result by solving the
equations; x> —23x + 120 =0

‘.é&fﬁp(gfhué/rf}(obumé(}"rlﬁ!p(ujué el
6x>2—8x+3=0

18. Evaluate (9 + 4w + 4w?)

(9 + 4w + 4w?) Epbred

19. Evaluate (%__3)9 n (ﬂ)g

55 (2

2

2
20. Evaluate w37 4+ w38 -5

w37 + w38 -5 ip‘"‘J

21. Evaluate w13 + =17

w P+ i,'}’”vi

22. Prove that x3 + y3 = (x + y) (x + wy) (x + w?y)

x3 +y3 —(x+y)(x+wy)(x+w YLt

23. Without solving, find the sun and the product of the roots
of the following quadratic equations. x> —5x +3 =0

x?>—5x+3 :-éﬂb‘”,«/"“lﬁu',i:f/:’{éf/cabl/&u»
0

24. Find the value of k if Sum of the roots of the equation
x>+ @Bk—7)x+5k=0 is gtimes the product of the
roots.

u)uéx + (3]( 7)X + Sk =0 ubl//'/u’/”}‘”ux’tﬁ(
e LL"/—gu/'aJllPZ:uJ}/LJ'J!;{

25. ifa, § are the roots of the equation x? + px + q¢ = 0.

. a
Form equations whose roots are —,E

B«

: ..J}l/;u)u;‘uru"ué x? + px+q=0.=200- O(:B/
4 a B s
Bla "

26. Write the quadratic equations having following roots. 1 + .: . 4

i,1—i

1+1i,1- l'vgjfiufl;l/(ﬁ/u)dbu)u

27. If a B are the roots of the equatlon x% +px + q D
Form equations whose roots are a?, 32 PRI

.:J}l/;uju?g_Jnujuﬁ x? + px+q=0c=bls O(:B/ﬁ
a®, B>yl

28. Use synthetic diyision to find the quotient and'the °
remainder, when (x* + 7x — 1) + (x +1)

(x2 +¢-£(PJW.~/5J’(¢LML/JW!/(:E~L{(]
7x —1) +(x+1)

29. Find the value of h using synthetic divis‘lo'n,. if 1is the zero
of the polynomial x3 — th +11-.

X3 = 2hx? 4§ 1w N e e ddhe Jin L £

K11
30. Evaluate (=1 +v—=3)8 + ( 1 \f_)6 (=1 +V=-3)° +(-1— \/__3)6_%/01#;,3
31. Define symmetric functlon . _Q/__EJ/JJJ:@J%
32. Define Slmultane(:)gs .Equatlons. ~Q/-»?/Jv(u?'5lm'/"7

33. Discuss the:types 'df é‘duation roots?x?> +6x—1=0

x> +6x—1= O-é&i{.(lﬁw/g}uéabb‘

34. Ifw = then find w?

—1+vV-
2

_Eekw? Jrw = _14'2@ A

35. Prove that the sum of all the cubes of a unit is zero?

et p s e 0 LS S et

36. Find the product of the unreal root cube of the unit?

REA ) N PN I

37. Find the value . w37 + w3% 4+ 1

W% + @38 + 1S

38. Find the value - (1 — w + w?)®

(1-w+w?)lyfrked

39. the product of two positive consecutive number is 182.
find the numbers

_Q.“/rib”;lﬁl_gl82.,/%)‘(0{)!,@!;‘?%»

40. the difference of a number and its reciprocal is %. find the
number.

<Q/(}h”;ﬁ<+ 1:5 J/.KJ:Q‘LJUJW&_Q
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41. Express as a ratio a:b and as a fraction in its simplest
(lowest) form. 27 min. 3 Osec, 1 hour

27 min. 3 Osec, 1 hour-/ 6 A UTE sl atbesd

42. Express as a ratio a:b and as a fraction in its simplest
(lowest) form. 75°,225°

75°,225°_ g 6 A UTS S at b

43. Find the value of p, if the ratios 2p + 5:3p + 4 and 3: 4
are equal.

Ust 3 p + 51 3p + 42U Sl e A

44. If the ratios 3x + 1: 6 + 4x and 2: 5 are equal . find the
value of x

e SxTUn2:5. 3% + 126 + 4x i S

45. If a: b = 7: 6. Find the value of 3a + 5b: 7b — 5a

Epbredfa+sbiTb-5aatb=7:63/1

46. If y varies directly as x, and y = 8 when x = 2, find x
wheny = 28

y = 28,.?.)( Zé()l”;nx = ZJf/?y =8 Alunuﬁwl//:ﬁxuly/fi

47. Find the values of the letter involyed in the continued
proportion. 8,x, 18

8 X, 18 é()b/ujufw’bﬂjy

48. If y < x,and y = 7 when x = 3 find x wheny = 35and y
when x = 18

yosly = 35,6x_éplwrx 32y = myyofo

49. Find a third proportional to 6,12

6,12 éph*_/tzu A

ny
+y

50. Find a mean proportional between x2 — y?2,

x2—y ’x Y é”}’“‘uﬂu!dkﬂ

51. Find a fourth proportional to 4x*, 2x3, 18x°>

4x*,2x3, 18x5vé,'}’@/uw;g

52. Find a mean proportional between20, 45

20, 45_2 AN 3L

53.

ifa:b =c:d,{a,b,c,d # 0) then show that% =

azecz
b2+dZ- | T

24c2 . P
2= |2 et =cid(0 Zabed

b b2+d?

54. Define joint veriation.

_J/J/J‘JMUML';

55. Find x, if 60m : 90m :: 20kg : xkg

#60: %290 ,'!/){20 (!/){x iﬁ’”x

56. Find the cost of 15kg of sugar, if 7kg of sugar costs 560
rupees.

B GE K15 Ty, 560 = F S E KT

57. Define direct variation. SISy e
58. Define inverse variation. - NIyl
59. Define componendo dividend theorem. IS e S
60. If y varies dlrectly as x, and y= 8when X=2 findyin e sixed§YIn X =2 By =8aiundiend Y mx /i
terms of x. ' &

61. F|ndX|f6X 35

& x36:x:3:50

¢§(P¢QJV:V=3_,>.U:8/;’nuﬁ”iui‘vumﬁ

when U=12 wu=12
63. Find the fourth proportional to 8, 7, 6. _ﬂépi’”.,/t?u?;;KB,ZS
64. Find a mean proportional to 16 and 49. Gt AN3L849 5116
65. Find a third proportional to 28 and 4. _é,'}”g/w/:”KZSA

2
66. If y x x;and y = 28whenx = 7, z = 2then find y.

2

P

Y IaX=T.2=2 2y =28 sy oc 2 i
Z

67. 1f 2 and Z=36when X=2 Y=3then find z.

EpP I X=2:y=322=36mz Xy
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68. If w x vizand W:2When V:3, then find w.

_gfgrﬁ‘w}"nV:?u,zW:ZuiWocizﬁ
\'

69. Find x, if 6:X:3:3

e x76:x13:5.

70. If 6:x::3:5 then find x

. Resolve into partial fraction.

x—11
(x—=4)(x+3)

el Tx 1315360

Q.NO.3 (SHORT QUESTIONS)

XU S o

(x—4)(x+3)
. . . x=5". > .
2. Resole into partial fraction. e — Y -Q/J:fb/uﬁu;/djz
3. What are proper and improper fractions. .:?u/uba)u:/v},}/;mum

. How can we make partial fractions of

X-2 5
(X+2)(x+3)

bl A end

. Resolve into partial fractions:

2

1 “&(ﬁuﬁ//d)i

. Find partial fractions of

_é()l"‘//d)]J

?

(x+D(x-1) 3
7. Resolve into partial fractions: ﬁ x 5&’; e S
. . X
8. How we can make the partial fractions of m mc&éuch///dmu” )

(¥ 1+ aMx —a)

9.

Whether (x+3)* =x*+6x+9 is an identity?.

feed Ul 3y pxs0 ¥

10.

X ={1,479}andY = {2,4,5,9} Then find: XUY

XUY - /9 Y = {2459 baiX = {1479} (G

11.

IFX = {L,4,7,9}and Y = {2,4,5,9} Then find: XN ¥

XN Y - Y = {2459 baiX = {1479} /G

12.

FX=0,y=272%T=0% ThenfindxuY -

XUY g/ r#iT=0X=0,Y=2" Jiv

13.

| FA = N and B = W Then-find'the value of A — B

A— By o# =dIB=WulA =N/

14.

IFA = N and B = WThen findthe value of B — A

B — Ay fr# =B = WA =N/

15. If X = {a,b,c} and Y = {d, €} then find the number of r"’"}’ﬁu(ugf'éu;fdﬂJJ;zin e X (bl S
elementsinY X X ?
- Y x Xy
16. If L = {a, b, C}'and M= {d,e, f, g} then find two f’l’/@”/&‘;” £ diond M= {dofg) oL~ {abe)/
binary relations:in each: L X L
| LXLogS

17.

Findaand b, if (a—4,b-2)=(2,1)

(a—4b-2)=(2.0) & ba

18.

Findaand b, if (2a+5,3)=(7,b-4)

(2a+5.3)=(7.b—4)ﬁ€5r)‘”b/"a

19.

Findaand b, if (3—-2a,b-1)=(a—7,2b+5)

(3-2a.b-1)=(a-7.20+5 " E* b '

20.

Find the sets X and Y, if
XxY ={(a,a),(b,a),(c,a),(d,a)}

XxY ={(a,a),(b,a),(c,a),(d,a)} VAT VN
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21. If X={a,b,c}and Y ={d,e}, then find the number

of elements in Y x X ..

:;é(k”;lﬂ(fu%léuk@/?

Y ={d.e} ”'Xz{a,b,c}j’

22. What is meant by union of two sets. ?LL;:/y/:.ufggj;ji
23. Define cartesian product. SIS S S esE
24. Define ordered pair. Seslplfe e Jn
25. Define binary relation and give one example. ,J,Jc»b(u,ufbb}d/y/@lﬁ
26. Define domain set and range set. _J/J/JJC//MJU“}J
27. Define Bi-jective Function. Vawtfd‘wr‘/)dt
28. Define function. ,Q/by/Ju'f’
29. Write De Morgan's laws. | ‘g/duiéﬂtdﬁ

30. Show A N B by Van diagram if A € B.

xaCB Ay e e S /ANB

31. Show the van diagram AN (AU B)

g bt Ui YAN (AUB)

32. Define Geometric mean. Y RIPRN]
33. Define Harmonic mean. S S BT A
34. Define Arithmetic mean. -u”/bg}d/»n@v

35. Find arithmetic mean by direct method for the set |- .-

of data 12, 14, 17, 20, 24, 29, 35, 45.

u:/'/”}’”lz/)!QPK}I}”JSQ/#L@/&}/J/DJ&

45,35,29,24,20,17,14,12

36. The salaries of five teachers in rupees are., Flnd
range and standard deviation.
37. 11500, 12400, 15000, 14500, 14800

LS A e 1 b F SaiiGL
14800,14500,15000,12400,1 1500

38. Define mode. sy N
39. Define median. <4 : SIS s
40. Define class limits and class-boundar'res ¢ IS P EweF e e FLa

41. Compute arithmetic mean- usmg |nd|rect method:
12,14,17,20,24,29,35,45 . -

r}"lz/)lQL?KJU"J”}'QJML.'@,/(VQJJ///’Z?)}/UL
12,14,17,20,24,29,35,45: 5%

42. Define mode and range IS N

43. Define variance and erte |ts formula. _Jgfu,,jg/,,u/_ﬂfgq/;

44. Find the stanrd.ar.d.dewatlon “s” of each set of LS A e
numbers; 9¢3¢8:8¢9:8,9,19 ) )

\ 9¢3¢8¢8:9:8,9,19

45. Write three characteristics of arithmetic mean? sy 0 F elor? Sl

Q.NO.4 (SHORT QUESTIONS)

1. Express the following sexagesimal measures of angles
in decimal form. 60°30'30"

N A LRI S I - YAV P
60°30'30"
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2. Express the following into D°M'S" from .125.45° 125.45° _ o £S" WD M S 5000
3. Express the following angles into radians. 135° 135° _2fterhad Ugs
4. Express the following angles into radians. —150° —150° ‘&Uuﬁd)://u,,,]
5. Convert each of following to degrees. —Tm _Tm_u“/uiuidff
6. Find the distance travelled by a cyclist moving on a LUz tc b6k g5 X 15Ukt L far K
circle of radius 15m, if he makes 3.5 revolutions. Y
7. Find@when:1=4.5m,7 =2.5m | = 4_5.15"7, = 2.5m:pz k0
8. Findr,when:l=4cm,0 = i radius l = 4cm 9 == ﬁép""r
9. Inacircle of radius 10m. find the distance travelled by /10‘],}/{;/,}‘55/;/&)%/@/63 5:/&;/!;,2.&“(!
a point moving on this circle if the point makes 3.5 G35y
revolution (7 =/23.5)0¢
10. what is the circular measure of the angle between the Ctet },wﬂuuqfvd,/uuv/;l—urrd/d/‘/fﬁ
hands of the watch at 3 o clock? A
"ff@ e F S AR U
11. What is the length of the arc APB? " -
12. Prove that. (1 — sin6)(1 + sin 6) = cos? 0 (1 —sin@)(1 + sin ) = cos? 6. S =it
13. Verify the identity: (tan®+cot0)tan0= sec 6_ y = (tan 0+ cot 0) tan 0 = sec? 0 AU Vs
14. Ver'fy that COt@SECG = COSGC@ cotOsecH =cosecO J/”éb"/:lf'
15. Verify that: tan®6+tan”6 = tan’ eseEi 0. . 4 tan 0+ tan? 0 = tan0sec’ @ el
16. Verify the identity: w—l t no sin0+cos0_, o et el v
Z 29 .. .
17. Verify the identity: L +050 =secH sin%o O AOST FnVy
.~ C0S8- +¢0s0 =seco
18. A tree casts a 40 meter shadow when the angle of oo @lfﬂ J&A‘% 250 272 3K e 2 4y L]
elevation of the sun is 25°. Find the height of the £
tree. -
19. Find the angle of elevation of the sun if a 6 feet man e 2335 LK L 6L B I s e K
casts a 3.5 feet shadow.
20. Define sector. _E S bmtsl £
21. Define angle of elevation. TS F S sl
22. Define angle of depression. NIy ANy
23. Find r when |= 56 cm and 6 = 45° bS50 = 450401 = 56 em K
24. Find tan 8 when cos 8 = % and terminal side of the _E e anin i 0E 5 S 51604 cos O = %f!

angle 6 is in fourth quadrant.
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25. Find the area of the sector with central angle of g

radian in a circle of radius 10cm.

,:)U/;l(lo wut{m,é;érngl{z_/’uw

T
&
v
~
| a

26. If tan®=— then find the values of other

5
2

trigonometric ratios atf.

et Su e F B N4

tan6=—
2

27. If length of the chord AB = 8 cm. its distance from the
centre is 3 cm then find the diameter of such circle.

S B In 3 b S K 80U S 5 AB

28. Define center and radius of circle. SIS PSS p L
29. Define circumference of a circle. SIS L
30. Define a diameter of a circle. ) S B
31. Define collinear points. 4 -J"/béifd/b@b’f‘
32. what is meant by Non-collinear points. ?L:i/u/c.w»'(?/
33. Define secant of a circle. Og}!/lﬂ/cbgb

34. In a AABC, calculate mBC when mAB =
5 cm,mAC = 4 cm, mzA = 60°

mAB 5 cm; mAC = £/ e#mBC ot AABC
asd v 4 cm, mzA = 60°

35. Define projection. A
36. Define cyclic quadrilateral. S kA
37. Define and draw the escribed circle. R Y I S
38. Define Polygon. S e
39. Define and draw the sector of acircle. =~ "= . . _u:’udﬁ/,,bé,/?&,;,uﬂi
40. Define circumcircle. Sl P e ntin Pl
41. Define Isosceles triangle. NSy AR

'LONG QUESTION

Q.NO.5

Solve by completing'équare' 2x? +mx+n= 0,2+0

X2 +mx+n=0¢%0 'éd’&/f;u}

8  3x%+5
----- 3x+1  3x+1

4 — 8 3x +5_cil)’€2/;}§ y/»

3x+1  3x+1

Solve the equation using quadratic formula: x_+i_ —42—X = 2— 1 F e S L GG
X X
Solve the equation using quadratic formula: Lb + L =2 éd’;dw&um&»»
X X—a

Solve the equation using quadratic formula: v/3x?2 +

x =43

\/§X2 +x = 4\/_ <éd’r_dt»7~l£umu&m;/_~,up

iX) solve the equatlon T 4( - ) 4

— 44 ( ) 4-éf Sl

x—3

xii) solve the equation. 4.22x+1 92 +1=0

42741 92X 4+ 1 =0 _Zf fen(ii

xiv) solve the equation. Vx2 + x + 1 —Vx2 +x — 1 =
1

VaZ+x+1—-Vx2+x—-1= 1<2£J7/.~,|5L«‘(xiv
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Solve the equation: \Jaa+x —va—x =+/a

JAarx —a—x =+a :ES Sl

Solve the equation: 2x* -11x*+5=0

2x* —11x* +5=0 :Z F S enl

Find the value of k, if the roots of the following
equations are equal. (2k — 1)x? +3kx +3 =0

S1Wusida L 2k — 1)x2 + 3kx + 3 = Obobefiosin 1
Gl ed

Show that the equation x? + (mx +c)? =a? has equal

roots, if ¢ =a?(1+m?)

/ﬁzu;':/,l/,gfugc x?2+(mx+c)? =a’ o!)l/f”écf.f‘

c?=a’(l+m?)

For all values of k, prove that the roots of the equation
X2 —2(k+%jx+4:0,(k +o)are real.

J’/‘CXZ—Z(k+in+4=0,(k¢Q) .:«l;Lf:j_Luing"Jk

.,

—udy

Provethat x3 +y3 + 23 —3xyz=(x+y +
2)(x + wy + w?z)(x + w?y + wz)

B4y +23—3xyz= (x ¥y +2)(x + wy +SZE ek
Cw?2)(x + 0ly + wz)

Prove that: (1+ w)(1+ 0?)(1+ ©*)(1+ ®?).....2n factors =1

L+ o)1+ o )(1+(D )(1+ @ ) 2nfactors =1 1S et

Prove that: x®—y® = (x — y)(x — oy)(X — ®7y)

R o VX —o)(x—aly) Sk

Find m, if The roots of the equation x? + 7x + 3m —
5 = 0 satisfy the relation 3a — 2 = 4

Lo ;‘/u[,x +7x +3m — 5=0uuu/fu/rk’JJ
g gt 3a—2p =4 F

Solve the simultaneous equations. x2 + 2y? =
3;x2+4xy —5y2=0

x +2y =3;x2 + 4xy — 5y2 =_ S S eblos AL 52 sue
' 0

the product of two positive consecutive number is
182. find the numbers

-LJ:/((’P’W’-LLI82%/'}&[’{}'/“’4«?&1/”

the difference of a number and its reuprocal |s — fmd

<J"/'/|’)L’“‘J,LL¢ 175 J/'KJ:QLJU:U,@.{'

the number.
Q N

0.6

Find x in proportion: p2 4+ pq+ g IX pp+q (p a)’

3 3 N .
p?+pg+a?ix: 9 (poq)? et dx it
p+q

If RocTand R=5when T._:ﬁé:,'find fthe equation
connecting R and T. Alsofind R when T=64and T
whenR =20. : o

et T s R3T=8 ER=5snRaT /]
nR=20 g T aT=64_220#R

Find a third proportlonal to: PP=d4° P
~ P’+q’ 'p’-pa+q’

p’—qg°
p’+q°

P—q

= ;e
P’ —pa-+q

Find the values of the letter involved in the given
continued proportion: 7,m-3,28

b e m et U T,m=3,28

Using theorem of componendo-dividendo find the

()’”JJm+5n m+5p LwZ St A

m+5n m+5p 10np m-5n  m-5p
value of Jfm=—1
m—5n+m—5p m n+p 'Mm:ioTng/’é;
. .. . X—6a Xx+6b
Using theorem of componendo-dividendo find the g Ll S el J
6 6b 12 b X+6a x—6b
value of X=28 _X+59 a _12ab
X+6a X—6b Ta-b X = /
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Using theorem of componendo-dividendo find the

/Z()’”Jd/s 3p  s+3q LwZ St A
s+3p s—3q

value of =3P, S*+34 j¢ o Opa 6pq
s+3p s—3q p—g MS=—"
P—d
Using theorem of componendo-dividendo solve: X2 +8p2 -y Xt pz lé_,d_/dw_/‘}w ke
Vx2+8p2—/x2—p2 1 Vx2+8p2++/x2-p
Jiepip? 3 &
a _ E — E ac+ce+tea _ SRy E _ E e
If (a,b,c,d,e, f # 0)5 =7 =7 then show that Sararir =Sg=ti(ab,cdef#0), === /
actcet+ea [ﬂ]z/g ace 2/3
bd+df+fb  Lbdf S bdf]
If(a,bcdef;tO)Ezﬁz;,thenshowthat%+ 2 Ce+f£./w(abcdef¢0)—=— e/
ce | ea c?  e? : “ea 2 g2
Gt nEtats o b_z tEtE
Resolve into partial fractions; —-—x—/— - Dt 'é&yu"u /d';
P (X +1)(x+3) S3x47 U S0
3 2 T 3 2
Resolve into partial fractions: & X =7 DX AT T L s S
3x —2x-1 3x?—2x—1
! ;:-Q/J:yufug/d;z
9 9 2
Resolve into partial fractlons. S — S Y 4y AV
P X—1)(X+2)° xX-Dx+2)? = S
Resolve into partial fractions: x'+1 x'+1 :éd:‘;u://dfz
x%(x—1) x?(x—1)

Q.N

0.7

FU = {1,2,3,4,5,6,7,8,9,10}A = {1,3,5,7,9}B = .
{2,3,5,7}Then verify the De-Morgan's Laws i.e (A N
B) =A"UB’

L3S ANSI12357)= B {13,579)= A{U ={1234,56789,10}/1
(ANB) = A" UB'- /3.4

If U ={1,2,3,4,..,10}A = 1,3,5,-7_,_9-};13. = '{-1,4,7,10}
Then verify the questions - (A-U B)"' = A" U B’

C=1{1,5,8,} #B={15810A={1,4,7,10}U ={1234,.. 10}}.]1
AUuB) =AU B’_Q/at*gfdmjg;/p?mo

IfL={x|xEN/\xSF>;},:M=;I'f:l;{y|y€pAy<
10} Then make the following relations from L to M
Ry ={Gx»ly=x}

L={xIxeNAx<5}L,M=|fL{y|y€pAy <ilxiv
R, =-u‘f.éa@u}luﬁﬁfd/b,'/ﬁ-@'/&bg!ﬁz/,:McLéLJ;J,?/,&'; 10}

(&) ly=x
If L={a,b,c} ahd M={d,e,f,g}, then find two binary b dEn L LxL 756 = (d.e.f.g) 'L ={ab.c) A
relations inLxL. -&
If A={1,3,5,7,9}, B:{1,4,7,10} and U:{1,2,3,4,...,10} ;”Uz{lz 34 0 g 14 71 135 7 9 P
, then verify (B—A)' =B'UA. _é.fwii/(B AY =B UA
If A:{11315a719} y B:{1a417110} and U={11213141110} ;ﬂU:{1,2,3,4,,10} /”B—{1,4,7,10} A—{1,3,5,7,9}/

, then verify B—A=BnA'.

Fektl SB-A=BAA

Find the standard deviation “S” of each set of numbers:

(i)12,6,7,3,15,10,18,5

_gE kg 1A e

()12.6.7.3.15.10.18.5
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(1)9.3.8.8.9.8.9.18

Calculate variance for the data: 10,8,9,7,5,12,8,6,8,2

:ép“”qﬂ%l%d;’@u
10,8,9,7,5,12,8,6,8,2

On a vacation trip a family bought 21.3 liters of petrol
at 39.90 rupees per liter, 18.7 liters at 42.90 rupees per
liter, and 23.5 liters at 40.90 rupees per liter. Find the
mean price paid per liter.

343000 J1 57213 Lo kil il o O Fs wutunh
VA AG L9 40.90 S A 235 A A0 42,90 Jr P87 4
<§()~’fo»fﬂdmwfd,ﬁ-qi

Q.NO.8

Prove that. (cot @ + cosecf)(tan 8 — sin0) =
secl —cos 6

(cot® + cosecO)(tan 6 — sin ) = ;sgc 0 — cos 0SS =it

sin 8+cos @ cos? 0

iv) Prove that. ———

sin 8—cos 6

sinf+cos@
. tanZo-1'.

_cos’6 ,.J/u’/crt"(iv

" sin@-cos@

vii) A 20 feet long ladder is leaning against a wall.
The button of the ladder is 5 feet from the base of the
Wall. Find the acute angle (angle of elevation) the
ladder makes with the ground.

yl’dvj){/’)’)/}[&/ﬁ u’f gu‘/d@m’vz:/l;’;f/uluwbﬁ(vn
4 vvbadb.aflxﬁ Uf/i/u}?é”)h’u’“’:«}bg‘fﬁ“LLJ5

cos? 0

. . .. sinB+coso ) Wl ¢
Verify the identity: 761 "o oot SinB+cosd  costO A Ve
. . .. 1+cosO sinO >
Verify the identity: + =2cosecH - (e L

y y sind ' 11coso 1+c056+ sin® _ocosecd
Verify the identity: LI —2cosec’0 - 1 1 A VS
1-cosO® 1+cos0O @ A + =2c0sec’0
. . .. 1+sin® 1-sin0 G W .
Verify the identity: - =4tan0secd - : : A oV
y y 1-sin® 1+sin® __-j-j ) @ 1+SIne—1_Sme:4tanesec6 -
Verify the identity: sin>0=sin0— smecos 9 ) | Sin®0 —sinf—sinBcos? O ‘&r bk
1+cos®  sin@. .o .
Verify the identity: - : A S Y
y y- \/1—cose 1—cosh ‘/1+cosez sing  'F
. . L sece+1 secG+1 . s ¢
Verify the identity: / o il feco+1 seco+1 S T Vs

Escribe a circle opposite to vertex A to a triangle ABC
with sides |AB| 60m |BC| 4em | |CA|=3cm . Find its

radius also.

BC ‘AB U L1 ae bbbl ABC el el AUl
-"ér}l’”u’lu{gjl/’:'unfg /;lf4 ‘(6 Vj’}‘LugUJC_A 7l

Circumscribe a circle about an equilateral triangle
ABC with each side of length 4cm.

it 4O0USE r L1 S bt FK ARG S ol

Inscribe a circle in an equilateral triangle ABC with
each side of length 5¢cm.

-5 éwJéz/Ziu1fg€étﬁo//|}/}‘;gABC LB U2 Ssln

Two equal circles are at 8cm apart. Draw two direct
common tangents of this pair of circles.

_gub’d/}i'wl/&u:/’bul-w/?yﬁ&f8 & IsSalass

Draw two equal circles of each radius 2.4cm. If the
distance between their centres is 6¢cm, then draw their
transverse tangents.

?n(ﬂ 6 yU&y;;gﬂ/’/£u|ﬁ<gg/’bu’ﬂ/‘ul.l;u’luf 24
_g( BN

Q.NO.9
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SOLVE THIS PROBLEM)

If two chords of a circle are congruent then they will
be equidistant from the centre.
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(/P Irid L5 ) e

_Z,U}'Z,JML&J!d}L/c‘.f/u?UﬂJ&U"/"wLG?!;/GJ/J’/;/,L’"

Prove that perpendicular from the centre of a circle on
a chord bisects it.

The measure of a central angle of a minor arc of a
circle, is double that of the angle subtended by the

ﬁgt'/’/.éﬁ";d/u’i:)//,:}';u/c;}'//di»:./’bf“é:/.b‘

esliaw Lo g3 5 Sy SN 45 0SS p S e U F S

_‘aL"yZL'fu:.

Prove that any two angles in the same segment of a circle
are equal.

L sl et B S 2 s S G e
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